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Please show work on all questions for partial credit even on questions which do not specify. (50 total pts)

I. Sitnisa | (elenmm}.{_@ {circle one) (4 pts) S I[J,\'__E

ank { 000 yi!>mf~ or 10 raised to what power ! O (don’t forget sign) (6 pt)

o “"?7“75":‘""3—m

(.col y
3 How many stgniftagt figuresds in the {ollowing cajeulation; ’(‘ (4 pts)y # of significant fipures
{show work, # of sig fig for each number or the column) {4 pts for u.'m:'ﬁ)

(88,79 % 100.13/ (1.0001) = 8886990301 (calculator nunb :)wmc' the ']LILM[ # here ?M( (3

ms) \ "q‘\ff %%‘P\ ~ ‘ \'\ 4

4., For the clement selenium_ answer the following Hp{x e

a} what 18 the chemical symbol 5_1(._

- _ 2
bY How many protons ?7[]" &) How many electrons for the neutral atom F%
r) C?
d) Give symbol in the format * X for the same element _S—’
i 3.:;:.

&) What group is the element in ﬂﬂ ) What period is the element in 4‘

. . — . A T
oy What is the Hkely charge on the element 2’ _ Explamn or show works

6-F = L (g ~8) A2y

&
h) ts the element o [(metaly or { cmm@ i 7 T
- ] ,f"-'"'_"‘\\ ) - =
5, Gitve the symbol for one main group clement M {6 pis) :
.‘},f /
Extra Credit Question:  Dimensionad Anabysis Question:_ (Avogadro’s numbler = 6 .22 % i()”) (10 pts) .
i Questioni_(Avagado’s pus /»/

Hvou have 0.789 Kg of the element iron (Fe), how many stoms of the element tron fo vou have 7 Show work,
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CGen Chem F(CHM 111} Fall 16 Dr, Hahn MW 8 am Quiz T Form White %/7W btixam #

Name . PrintName

Please show work on all questions {or partial credit even on guestions which do not specify, (50 total pts)

1. S s a | (element) (compound)] (circle one) (4 pts)
2. Milligram means  wrams or 1) raised to what power  (don’t forget sign) (6 pt)
3 How many significant figures is in the following coleuwlation; {4 ptsd # of significant figures

{show work, # of sig {1g {or each number or the column} (4 pts for work)

(RO M H00.1) 7 (10001 = 8886990301 (calculator number) write the actual # here ‘ (8
pLs)
4, For the clement selenium answer the following (2 pts cach blank. 18 pts total)

a) what 15 the chermical symbol

b How many protons — ¢) How many clectrons for the neutral atom

&) Give symbol inthe format. X for the same element

El

e} What group is the elementin [y What peried s the element in

g} What is the fikely charge on the element Explain or show work,

b} 1 the element a [Dmetaly or (nonmetal)]

3. Give the symbol for one main group element | (6 pis)

Extra Credit Question:  Dimensional Analysis Question:  {Avogadro™s number = 6,022 x 107 {10 pts)

IF you have 0789 Kg of the element iron (Fe), how many atoms of the element tron do you have 7 Show work,
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Gen Chem F{CHMTTTY Fall 16 D1 Ram Quizl Form {ireen )f’ TW Exam®

Please show work on all quuimm for partial credit even on questions winch do not «.pccm (50 total pts)

B Si0);isa @mg wmpmj)) {rixture)] {eirele one) (4 pts) }‘“&\T
N —— ‘; !

2. Kiometer means (OU_U_ _mmeters or 10 raised to what power /_ {) _ (don’t furget sign) ( 6 pt)
3, How many significant figures 15 in the following caleulation: ;é (4 pts) # of significant

fligures {show wark, # of sig fig for cach number or the columnm¥(4 pts ﬁ“%

85.79 + 1001 - 1.0{)01 ER? R8G9 (calculator number)  write the Actual # here /KY '7,65 {8 pts)
¢ A
?l } \) l v ‘? (,?
{ ’:’ D i't -
[ oo

~—, s A

1
4. For the element sodium answer the following (2 pts dre

a) what is the chemieal symbol /U&T\

by How many protons ___ll_ ¢} How many electrons for the neutral atom ___H__
Lo
d) Give symbol in the format *X {or the same element “/V Qa
kA

¢) What group is the element in l_[} ) What period is the element in _3_

2) What is the fikely charge on the slement '(’l Explain r\@\w woiﬁ;} PN 20

"

(_,( Caraty K -t 91\/‘5\,.5- o G{j?-:)

) bs the element a {metal)pr (nonmetal)] o

16 )
A, Ciive the symbol for one transition metal element F‘L ((\ pts} &_g)(?_/rj, '7/};*"

__-"

\.‘.,‘\'

Extra Credit Question:  Dimensional Analysis Humnon Mvumdm 5 numbcr Lb 0224047710 pt*-} 5“'{*5;’“5 it

T2, o fthL CO"“'B”HJ
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I you bave 4572 mg of the element carbon (C. gommonly ealied
viu have * Show work, ‘\ @ \ ~?’ . f,
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CGen Chem {CHM 1HD Fall 16 Dr. Hahn MW 8 am Quiz | Form Green 9/7W Examd

Name Print Namg

Please show work on all questions for partial credit even on questions which do not specify. (50 total pts)

1. SiQzisa | (pure compound) (mixture}] (cirele one) (4 pts)
2 Kitometer means meters or 10 rased to what power  (don’t forget sign} (6 pt
3 How many significant figures is in the following calodation: (4 ptg) # of significant

figures (show work, # of sig Nip for cach number or the column) (4 pts for work)

8879 + 100.1 — LOOOT = 187.8899 (calculator number)  write the actual # here {8 pts)
4, For the clement sodium answer the following (2 pts each blank, 18 pts total)

a}y what is the chemical svinbol

by How many protens ¢ How many electrons {or the neoteal tom

d) Give symbol in the format A X for the same clement
s

¢) What group is the elementin ) What period s the elementin

£y What is the Iikely charge onthe clement  Explain or show work,

b Is the element a [(metal) or (nonmetal)]
5 Give the symbol for one transition metal clement . (6 pts)

Extra Credit Question:  Dimensional Analysis Question: {Avogadro’s number = 6,022 x 107 (10 pts)

vou have 7 Show work,



